[image: 学科网 zxxk.com]
[image: ][image: a923a566aed804cb02fed5f88437148e][image: 290a6b964a3a1bad792b2ff64640b97d][image: 9a1956be3e0d99e0d5fd4372172f41cc][image: 816b9f559560f38286a46397a6cced45]
[image: 学科网 zxxk.com]学科网（北京）股份有限公司
[bookmark: _GoBack]
image6.jpeg
EBREE, (%24 9)

1.(3%)

DD
O 15 ()

2. —%H 5 R? (64)

BEED  $8%g
BEWE  GLY

(R)& (R)

3. HEMT — \éﬂfpﬁrﬁéﬂ—.rh%, ;szmb%ﬁ/\ﬁ;;kmé\

HFH R RSB DAFE—

KT 16 4, PAKRKERRABRAZRS ST 5 2)

gk O 10

B

DRRRF G RAREZA] A

4. BRA ST AHBE? (54)

>
e

O]

AR5,

‘ﬁ’n";"b".
R el e owd v

— &, S, 5T EaH( YRIFE, 54)

J

—EGHeERE A T4 )

SRR
KT A, FZRHT 34,52

fededededed
Sefeddn
Voo W
Fodesede v
FedeTededek
o o S e S ¥
Vet et
Fevedededh
Voo ve s
SodedededeN

si%*q

ool e TN
e fe
FodeSede el
fededefled

oS de s
Vedeedpded
o e o e e
Tedevesk
o e kv
Tedeededed
e fesk
Tede Tk s
deedo etk
vedededefed
dedefovedd
NededestNd
B
Tedededed
e o e S
Tedededeed
Sededodeded
Sede e ded
Vededeoded
Fo e T o ey
Sl dded
Fede o et
*%*%*%

oot Yo des
Fefoedides




image2.png




image3.jpeg
E

Ha:

B

i E(X):

2022—2023 224E b 2F W) K /D S B A T BF

—F 5 HE
(B :60 44 H4:100 %)
5 . s ‘ = w EA Lo

¥

I | |

—HK2E, (R 1HEEH1 5, F2HEM2 45,2420 %)

1. ABS BTN,
0+7= 8§-2= 6+8= T+6+3=
9-9= 7+9= 18 -4 = 5+8-1=

: 2(7&@&%& EHAERHFT A
ﬁ ) +7=9 0 Ja=13 3+() =14
: 13-C)=10 6+2 =5+ ) 9()5-8-4

S HEHE, (RFOM2 5N A4EE1 5, 4289)
1. AASH A#BH,

§@§?J W{WL J{ J

( ) ( ) 16
2 FBHEFEFFTRAEALBEFTVREAS,HFX"KRE10, AT L
FERTHETH—HFARNEZ A MRRG T BHFH AL -
DY LEF RTRRE B DH, W, EFS+1+1+1=8", &
— 8, ¥ BECFXVIAF 484 5 ( )o

—ERREE 1 (kA T)




image4.jpeg
3. M A |EHRHAER,

[i0] Tia] | L
6 9

1
7
4.11 £i#851 A5 1 A( ) AL 1 AT 1A )o
ANt RsA—akiR( ), ﬁ?( 8

6. —3, Tl |ZTHZESV? FHE —~AMRAABA T,

n
8

10 20

7. = @D =3 o0 []
(D=#£AC IABE,LPH( IAkitkhf( AR,
() fe b AHAE 2 ABH A LRE, Bd L8463 ABY,
COFMAHKME A NABBES 6 ABBY LE,( —%i Th
—ERR) B, (EERAGET T EHIV")

8. a( )EHE >" 5 <" =

5+8( )d+8 3+7()9+1 15-4( )10
6+6OS+7 9-0( )9 16—3QS+8

9. JB4E For 5o o FHAT , HHARLL F 5 ( ) BT A BT R R AE S

{ﬁ#ﬁ?m’;\»ﬁj ‘ﬁ;ﬁnzﬂag:}%

SRR, (219 %)
1.@@% 24, (34)

—ARRBERE  F2 (34 W)





image5.jpeg
2. 45— H, FaBAFTHRTEAXNGEE, (59)

9-3= [

3. 4k Ha, FE—8., (54)
BEAASEIBETE A TSR, EA—ARAG.

or0 [
] it

4. #| 25 kT @ E LA TR, £ ( )RS EHGFT, I
ARYEET & AR A AT, /firwééﬁ—‘/‘i‘l’\ﬁ,tuthﬂ— HAnsdt, (64

Z’J‘WFS m1l2 z ZJNE m ot
.5
76 &7 6 55

M k— K, H—H. (%9 4)
EAWWEHRENG6 AN,

1. &E.éﬁ( Yid,
.E.W 4.

3. )&

— PR BB R4 )





image1.png




